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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 10 and of Part-II are 30.

o P I F T B G 59 99799 § GRa g2 4 a9 797 10 8

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 10 questions.
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F97-Y5 7 qlle &1 @ AT 79 T4 #S TR F GF FI-aH % FET-TS G [rg)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYfcTH % SfARET FE o e T& A o sfeaEdgar & @ siv frar gav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sraar T To FIT-UT T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 F TG 37 @ [@ B Grad F T & Je797 g T el & GhET I 59
T 7 g o qar w&hHN T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.
(i) HEF FIT & 37F 3B QT a9 TT 8

Marks of each question are indicated against it.
(iii) 3TY% FAT STEITAT &7 T

Your answer should be according to marks.
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fgea & fafecar qdest & &1 § oSl § I gU Al & AW fArau

Name the fast emerging countries of medical tourism in the World.

Ged aRadr @ & ?

What are compact settlements ?

gueig Ao Fr ® 7

What is Sectoral planning ?

SEE GHe O @ AR § ?

What do you mean by Population Composition ?

yzrrare @1 Gt fqaver

Discuss briefly determinism.

TETR T Bl & A T degel § e gehr Bt 8 € 7

213

3

What are metropolitan cities ? How are they different from Urban

Agglomeration.

“HY T § AR B H FAS S T o1 TR Him

"The Agriculture Sector has the largest share of Indian labours". Explain.

ARG & Ugiiee™ gareMl ) ooy o)

Write a note on the Petroleum resources of India.
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9. fagg % i AFM H oMY-oi & SrEge & 0T ITREE HRBl qU AGHGD LA Hl
EECEIEIIE LY 5

Discuss the factors for imbalance in sex age found in different parts of the

world and occupational structure.
OR
AYAT
qE e & R Surl & avie it

Describe the different approaches to Human Development.

10. 9Rd %l SHEE & AENTS Gged & [Gqaier G 5

Give an account of the occupational structure of India.

OR
AYAT

AT P TG B s g H fade=r i)

Discuss the religious composition of Indian population.
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o FYT T F T [ I % 5 J97-9 § FRT g 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 497 1 FUY 37 @ (@ 78 FrRad &Y d [ FeT9A {7 T & 8, qOET # IIT 59
G § #ig 4 @ &hwre Tl A @

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 Sar &

All questions are compulsory.
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(i) 97 F%F 1 & 30 T% TGO Jo7 81 F9F JoT 1 5 F &1 Fo7 FEr 1 & 23
7% GEBHAT J97 &1 T 24 G 30 TF J9F FIT FH FA §F =T 7 G
T8 FT STy FAT-Geasr [
Questions from 1 to 30 are objective type questions. Each question is of 1
mark. Questions from 1 to 23 are multiple choice type questions and
questions from 24 to 30 are one-word/sentence answer questions. Write
correct answer in your answer-book.

1. Frefarad § @ $F-91 T Al R GGaRer & s SIishal # qaifed Aoyl &R

27 1
(A)  HFE gRawar (B) SR
(C) I & Irgwa (D) HFAE WE-=R

Which one of the the following is the most important factor in the interaction
between people and environment ?

(A) Human intelligence (B) Technology
(C) Peoples perception (D) Human brotherhood
2. 9 @ # ARI-THT Bed © 7 1
()  9AfF g (B) oI GEERT
(C) wHiEpiaen TR (D) ST FafeRT
Which element is called 'Mother-Nature' ?
(A) Physical Environment (B) Political Environment
(C) Cultural Environment (D) Industrial Environment
3. 214 qa=ll & CH H faw@ SEE b &6 ? 1
(A) 4 & (B) 5 3
(C) 6 ™ (D) 8 AW
What are world population at the beginning of 21st Century ?
(A) 4 billion (B) 5 billion
(C) 6 billion (D) 8 billion
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4. frffed & | fea 39 & i orqud fasg & waifees © ? 1
(A) e (B) SmEHE
(C) € YR I FHNC (D) %9
Which one of the following countries has the highest six ratio in the world ?
(A) Latvia (B) Japan
(C) United Arab Emirates (D) France
5. oTefe™n 6 TR &1 sHEen s § ? 1
(A) Fega B) R
(C) =™I (D) FOMHb

Which type of pyramid is of Ausralia ?

(A) Expanding (B) Constant
(C) Declining (D) Negative
6. #d o &t sr@Eren Frefofed & @ fagm & 3 2 1
(A) To I A (B) Sfo HegS-IA-5%
(C) Tad Hio 47U (D) Xeo|

Which one of the following scholars introduced the concept of Human
Development ?

(A) Prof. Amartya Sen (B) Dr. Mahbub-Ul-Haq
(C) Ellen C. Semple (D) Ratgel
7. 9 H & B9 a PN FF o 7 1

(A) SO P (B) %@ i
(C) U FHi (D) @y ST HiY
Which one of the following does not follow monoculture ?
(A) Dairy Farming (B) Mixed Farming
(C) Plantation agriculture (D) Commercial grain farming
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qHE HEHA [he HRH G FH B 7 1
(A) e (B) Bl

(C) I (D) Hsf

Tertiary activities depend on :

(A) Skill (B) Factory

(C) Production (D) Machinery

=t & @ F-a1 Prarsar aqe dhey § Hefud & 7 1
(A) o fafmior (B) fsafeemedll steamas

(C) I SR FHeall Gal T (D) YT & q&T

Which one of the following activities is related to quaternary sector ?
(A) Manufacturing computers (B) University teaching

(C) Paper and Rawpulp Production (D) Printing Activities

fr=1 9 9 e Ry § yofed aeEiNae TRg 9% @ 8 ? 1
(A) &I P A B) fiy =
(C) i =t (D) BN

In which of the following regions has the oldest well documented urban
settlement found ?

(A) Huang He Valley (B) Indus Valley

(C) Nile Valley (D) Mesopotamia

frifafaa Toaf § & 60 o § SMEEn B 99 9ol o 1
(A) UREH (B) I T_A

(C) & (D) ol

Which one of the following states has the highest density of population in
India ?

(A) West Bengal (B) Uttar Pradesh
(C) Kerala (D) Punjab
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12. ARG & F=fomad @ anied st § & fhE o & derar & 3= 8 7 1
(A) TEIEY (B) 3 X g9
(C) T (D) SfeA™ AR FHEr &9
Which one of the following Union Territories of India has the highest literacy
rate ?
(A) Lakshadweep (B) Damon and Diu
(C) Chandigarh (D) Andaman and Nicobar Islands

13. 9RJ & T TEA TR & 7 1
(A) AR (B) TER
©) IR (D) ST
Which is the most ancient town in India ?
(A) Varanasi (B) Hyderabad
(C) Chennai (D) Agra

14. 39 ¥ UgHR S B GE9 IAH GEGUQ Frrenad adedt § | g fFe 7 7 7 1
(a)  f= (B) = W
(C) S (D) T & B T

The highest proportion of the total water used in the country is in which one of
the following sectors ?

(A) Irrigation (B) Domestic Use
(C) Industries (D) None of the above
15. TNIEe 39 § HF-a1 Gt e 8 ° 1

(A) Q" (B) T~
(C) @ (D) dd
Which Mineral is obtained from monazite sand ?
(A) Thorium (B) Uranium
(C) Coal (D) Oil

213/ 1l P.T.O.

Downloaded from cclchapter.com



16.

17.

18.

19.
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(6)
TR S-S &8 e oy | Red & °
(A) IAETS (B) feum=d W&sT
(C) S HHR (D) TR &
In which state in Bharmour Tribal Region situated ?
(A) Uttarakhand (B) Himachal Pradesh
(C) Jammu & Kashmir (D) Uttar Pradesh
U o ERR [he O % FRHAT § e © 7
(A) SR (B) f&das®
(©) =ge® (D) F®
To which group of activity does a tax consultant belong ?
(A) Primary (B) Secondary
(C) Quarternary (D) Tertiary

WA ¥ e T A e gl e © ?

(A) | (B) USIE

(C) =R (D) [STer

Which state has the lowest Human Development Index value ?
(A) Assam (B) Punjab

(C) Bihar (D) Rajasthan

HF-T TR BT TR & 7

(A) et B) =%

(©) e (D) TrefeTgst
Which is a Medieval town ?

(A) Delhi (B) Mumbai
(C) Chandigarh (D) Patliputra
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20. Fr=fafad & & b o9 & w@ d@ &9 Rad & 7 1
(a) f=r (B) orEH
(C)  oTedT (D) g
Which out of the following states has major oil fields ?
(A) Bihar (B) Assam
(C) Rajasthan (D) Tamil Nadu
21. 2006 % Y § 9RA § b fieras @t 9 ° 1
(A) 40 B) 41
(C) 42 (D) 43

How many of the following cities in India have attained the million status at
the beginning of 2006 ?

(A) 40 B) 41
(C) 42 (D) 43
22. = & | HH-91 A9 BEA 787 © 1
(A) Tl (B) =
© D) s
Which one of the following is not a plantation crop ?
(A) Coffee (B) Sugarcane
(C) Wheat (D) Rubber
23. T4 [IHd GEhih 1 iU & fhar @ ? 1
(A) 1980 (B) 1990
(C) 1985 (D) 1995

When was Human Development Index created ?
(A) 1980 (B) 1990
(C) 1985 (D) 1995
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24. fasq ¥ 999 AR SEEAT 9 TR HA-91 8 7 1
Which in the largest populated town of the world ?

25. ARG & 66 W9 § AFG fab gahih e & ¢ 1
Which state has the highest Human Development Index in India.

26. R & 9 U9 7 ks SEE A 8 7 1
Which state has the highest number of Buddhists ?

27. 39 29 H TH TAET ol AEENG €9 § &Y BA Tebrl Al & qee ¢ 1

Write the name of the country where every farmer is member of co-operative
society generally.

28. T B @ISV 66 FR FHAd H o B ? 1

Which activity comes in the collection of information.

29. R & § g THR SaEy 1

Name two main types of settlements.

30. 9Rd H Ul QU ST e g ° 1

When was the first complete census held in India ?
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